



Name: _____

Datum: _____ Ergebnis: _____

$$\left(\frac{1}{2}\right)^2 - \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{2}\right)^0 - \frac{3}{4} =$$

$$\left(\frac{1}{2}\right) + \frac{1}{2} =$$

$$\left(\frac{1}{3}\right)^2 + \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{5}\right)^3 - \frac{1}{5} =$$

$$\left(-\frac{3}{4}\right)^2 + \frac{1}{2} =$$

$$\left(-\frac{1}{6}\right)^0 + \frac{2}{5} =$$

$$\left(\frac{1}{4}\right)^3 + \frac{1}{2} =$$

$$\left(-\frac{3}{5}\right)^0 - \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{5}\right)^2 + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{6}\right) - \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{5}\right)^2 + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{2}{5}\right)^0 - \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{1}{4}\right)^3 + \frac{1}{4} =$$

$$\left(-\frac{3}{5}\right)^2 + \frac{1}{2} =$$

$$\left(\frac{1}{4}\right) + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{2}\right)^3 + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{3}{5}\right)^2 - \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{4}\right) - \left(-\frac{1}{2}\right) =$$



Name: _____

Datum: _____ Ergebnis: _____

$$\left(\frac{1}{2}\right)^2 - \left(-\frac{1}{3}\right) = \frac{7}{12}$$

$$\left(\frac{1}{2}\right)^0 - \frac{3}{4} = \frac{1}{4}$$

$$\left(\frac{1}{2}\right) + \frac{1}{2} = 1$$

$$\left(\frac{1}{3}\right)^2 + \left(-\frac{3}{5}\right) = \left(-\frac{22}{45}\right)$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{1}{3}\right) = \left(-\frac{1}{12}\right)$$

$$\left(-\frac{1}{5}\right)^3 - \frac{1}{5} = \left(-\frac{26}{125}\right)$$

$$\left(-\frac{3}{4}\right)^2 + \frac{1}{2} = \frac{17}{16} = 1\frac{1}{16}$$

$$\left(-\frac{1}{6}\right)^0 + \frac{2}{5} = \frac{7}{5} = 1\frac{2}{5}$$

$$\left(\frac{1}{4}\right)^3 + \frac{1}{2} = \frac{33}{64}$$

$$\left(-\frac{3}{5}\right)^0 - \left(-\frac{1}{6}\right) = \frac{7}{6} = 1\frac{1}{6}$$

$$\left(\frac{1}{5}\right)^2 + \left(-\frac{2}{5}\right) = \left(-\frac{9}{25}\right)$$

$$\left(\frac{1}{6}\right) - \left(-\frac{1}{6}\right) = \frac{1}{3}$$

$$\left(-\frac{1}{5}\right)^2 + \left(-\frac{3}{4}\right) = \left(-\frac{71}{100}\right)$$

$$\left(-\frac{2}{5}\right)^0 - \left(-\frac{1}{4}\right) = \frac{5}{4} = 1\frac{1}{4}$$

$$\left(-\frac{1}{4}\right)^3 + \frac{1}{4} = \frac{15}{64}$$

$$\left(-\frac{3}{5}\right)^2 + \frac{1}{2} = \frac{43}{50}$$

$$\left(\frac{1}{4}\right) + \left(-\frac{1}{2}\right) = \left(-\frac{1}{4}\right)$$

$$\left(-\frac{1}{2}\right)^3 + \left(-\frac{1}{2}\right) = \left(-\frac{5}{8}\right)$$

$$\left(-\frac{3}{5}\right)^2 - \left(-\frac{3}{4}\right) = \frac{111}{100} = 1\frac{11}{100}$$

$$\left(\frac{1}{4}\right) - \left(-\frac{1}{2}\right) = \frac{3}{4}$$